



Quadratic Equations



Multiply.

1) $(x - 3)(x + 1) =$

2) $(x + 6)(x - 4) =$

3) $(x + 1)(x - 1) =$

4) $(x + 7)(x - 3) =$

5) $(x + 2)(x - 9) =$

6) $(x - 4)(x + 8) =$

7) $(x - 3)(x - 5) =$

8) $(x + 5)(x + 6) =$

9) $(x - 2)(x - 1) =$

10) $(x + 7)(x + 4) =$

11) $(x - 11)(x + 2) =$

12) $(x - 4)(x - 9) =$

13) $(x + 5)(x + 5) =$

14) $(x - 7)(x + 8) =$

15) $(x + 2)(x + 7) =$

16) $(x - 8)(x - 3) =$

17) $(x - 1)(x + 3) =$

18) $(x + 4)(x - 13) =$

19) $(x - 3)(x - 1) =$

20) $(x - 16)(x + 1) =$

21) $(x - 7)(x - 8) =$

22) $(x - 2)(x + 6) =$



QUIZ ?

So Much More Online! Please visit: testinar.com

MORE ?





Answers



Multiply.

1) $(x - 3)(x + 1) = x^2 - 2x - 3$

2) $(x + 6)(x - 4) = x^2 + 2x - 24$

3) $(x + 1)(x - 1) = x^2 - 1$

4) $(x + 7)(x - 3) = x^2 + 4x - 21$

5) $(x + 2)(x - 9) = x^2 - 7x - 18$

6) $(x - 4)(x + 8) = x^2 + 4x - 32$

7) $(x - 3)(x - 5) = x^2 - 8x + 15$

8) $(x + 5)(x + 6) = x^2 + 11x + 30$

9) $(x - 2)(x - 1) = x^2 - 3x + 2$

10) $(x + 7)(x + 4) = x^2 + 11x + 28$

11) $(x - 11)(x + 2) = x^2 - 9x - 22$

12) $(x - 4)(x - 9) = x^2 - 13x + 36$

13) $(x + 5)(x + 5) = x^2 + 10x + 25$

14) $(x - 7)(x + 8) = x^2 + 1x - 56$

15) $(x + 2)(x + 7) = x^2 + 9x + 14$

16) $(x - 8)(x - 3) = x^2 - 11x + 24$

17) $(x - 1)(x + 3) = x^2 + 2x - 3$

18) $(x + 4)(x - 13) = x^2 - 9x - 52$

19) $(x - 3)(x - 1) = x^2 - 4x + 3$

20) $(x - 16)(x + 1) = x^2 - 15x - 16$

21) $(x - 7)(x - 8) = x^2 - 15x + 56$

22) $(x - 2)(x + 6) = x^2 + 4x - 12$



QUIZ ?

So Much More Online! Please visit: testinar.com

MORE ?